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One cusec means litres of fluid

flowing in a second.
(a) 500

(b) 1000

(c) 28.32

(d) 10

In traffic signals, the reason for using red
light is

(a) Itis attractive

(b) Since the red light has higher
wavelength, it can be identified from
farther distance

(c) It can be identified by the person with
poor vision

(d) Since itis a favorite colour of police

Equal distribution of wealth indicates which
of the following value ?

(a) Democratic

(b) Scientific attitude
(c) Secularism

(d) Socialism

Panchasheela Tatwas (Five Principles)
are based on the value of

(a) Directive Principles of State Policy
(b) National Values

(c) International Co-existence
(d) Socialism

National festivals are celebrated to achieve
(a) National integration

(b) National security

(c) Cultural development

(d) Confidence
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10.

Geographically India is 7" largest country
in the world. What is the percentage of
India’s area in the world’s area ?

(@) 18%
(b) 7.8%
(c) 10%
(d) 2.4%

One nautical mile is
(a) 2.562 km

(b) 1.852 km
(c) 1.652 km
(d) 0.852 km

Rank of Karnataka interms of most
populous state in India

(@) 15
(b) 06
(c) 08
(d) 11

Bhakra Nangal Dam is built across this river
(a) Sutlej

(b) Sindhu

(c) Mahanadi

(d) Narmada

Which of the following foreigners were

the last ones to come to India for trade
purpose ?

(a) Dutch
(b) Portuguese
(c) French
(d) Greek
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11.

12.

13.

14.

15.

| T

Who gave the call to Muslim people to not
to participate in Quit India Movement ?
(a) Rahamat Al

(b) Mohsin-Ul-Mulk

(c) Khan Abdul Gafar Khan

(d) M.A. Jinna

Indian freedom fighter who got inspiration
from Garibaldi of ltaly ?

(a) Vallabhbhai Patel

(b) Bala Gangadhar Tilak

(c) Lala Lajpat Ray

(d) Bipin Chandra Pal

All India “Muslim League” was formed in
the year
(a) 1906
(b) 1907
(c) 1916
(d) 1921

In which Congress Session, resolution of
“poorna Swaraj” was adopted ?

(a) Kolkata (Calcutta) Session

(b) Belgaum (Belagavi) Session

(c) Bombay Session

(d) Lahore Session

Who among the following is considered as
Gandhi of Karnataka ?

(a) Mailara Mahadevappa
(b) Aluru Venkataraya
(c) Hardikar Manjappa
(d) Siddappa Kambali

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click m



1 MBRTFN VT 13032,50050 §o0secdrd
¢ B0 B O, BRTINII)

B,

QOLLTON LIOVIRTITD,
(@) = :!og e R0

/11;)/&;;:)053 ess gort

(0) BeBcineRE Wi
(d) wReBY R AR D

B BT T T. 2. &I0°. 20130
—_ oudngsnecs gmmqm
(a) oo S BreB* Tood*

(b) de3ewzod

(c) w0 2 IR

/(d)/zia}eem I8~
i’

moReRoHOTITO Xz TT za’#oﬁ?&'ioa‘qt

_ 89 383 &oTIE Pridodd Jo3S
LoBRTBRoED.

(a) mOohF T wore
(b) Toa

(c) 3 i)

287 23 EAITFY, oo, .. TR

\

/20.-/ 1R0ER k), ERReTE DT

5000
(a) Fpecmods RBoed Lr3TS P
(b) SocxdmBodREs) temen” SEBARELOBE)

T F BwEor Sed e e L—
SRR

(d) e ) aTivh ssabr dodabed cxor
PREART))

ops)

edt%sg‘zﬂe NG, "
12%—

(b) 24.3%

(c) 33.3% .

(d) 35.6%

16.

17.

18.

19.

- 20.

AD

British historians generally projected Indian
freedom struggles as

(a) Wars of independence
(b) Mutiny or riots
(c) Subversive activities

(d) Law and order problems

Shahu Maharaja and Dr. B. R. Ambedkar
were deeply influenced by the teachings of

(a) Raja Ram Mohan Roy
(b) Vivekananda

(e) M. G. Ranade

(d) Jyothiba Phule

Gandhiji withdrew the non-cooperation
movement after the violent incident at

(a) Jallianwala Bagh
(b) Dandi

(c) Champaran

(d) Chauri Chaura

USA entered the Second World War
because

(a) Hitler attacked Polland
(b) Japan occupied Manchuria
(c) Japan attacked Pearl Harbour

(d) Britain and France declared war on
Germany

Of the total Geographical area of India
is under forest cover.

(@) 21.2%
(b) 24.3%
(c) 33.3%
(d) 35.6%
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21.

22.

23.

24.

25.

AR

Which of the following is indicator of natura|
wealth of a nation ?

(a) Industries

(b) Crops

(c) Forest

(d) Human resource

Which one of these is a decomposer ?
(a) Fungi

(b) Algae

(c) Protozoa

(d) Insect

In the Rutherford’s scattering experiment,
deflection of alpha () particles is due to

(a) Increase in Kinetic energy
(b) Force of repulsion
(c) Force of aﬁraction
(d) Decrease in Kinetic energy

In the musical octaves Sa, Re, Ga, Ma,
Pa, Da, Ni, Sa, the first “Sa” differs from
last “Sa” in

(a) Frequency

(b) Amplitude

(c) Instrument

(d) Velocity

A cricketer hits a sixer, the cricket ball
moves up with a velocity of 2mvs and falls

down. Its initial velocity while falling down
will be

(@) 1 m/s
(b) 1 m/s?
(c) O m/s
(d) 2m/s
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27.

28.

29.

30.

“BRICS” countries are

(a) Bangladesh, Romania, India, China,

Switzerland

(b) Brazil, Russia, India, China, South Africa

(c) Brazil, Russia, India, China, Spain

(d) India, Romania, Bangladesh, Sweden,

China

This gland is called “King of glands”
(a) Thyroid

(b) Endocrine

(c) Pancrease

(d) Pituitary

Speed of light in vacuum per second is
(a) 3 lakh km |
(b) 1.86 lakh km

(c) 3thousand km

(d) 1.86 thousand km

Depth of ocean is measured by
(a) Altimeter

(b) Barometer

(c) Bathometer

(d) Colorimeter

Present name of erstwhile Hoysala's capital

city Dorasamudra/Dwarasamudra is
(a) Halebeedu

(b) Belur

(c) Sorﬁanathpur

(d) Hole Narasipur
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31.

32.

33.

0 A

Human Rights aré declared by which

organization ? o
(a) World Trade Organization
(b) United Nation’s Organization
(c) SAARC |

(d) World Health Organization

Which of the following is @ Criminal Act ?

(a) Challenging the Govt. Order in the
Court

(b) Suspending Fundamental Rights inan
Emergency

(c) Practicing Untouchability

(d) Not practicing Fundamental Duties

Which ex-captain of Indian cricket team
was included in“Hall of Fame Legend” club

recently ? | t\i

(a) Sunil Gavaskar
(b) Kapil Dev

(c) Sachin Tendulkar
(d) Mohd. Azaruddin

Madam Marie Curie was awarded Nobel
prize twice in the following years

(a) 1900 and 1934
(b) 1867 and 1934
(c) 1903 and 1911
(d) 1900 and 1911

German Parliament is referred as
(a) Senate

(b) House of Commons

(c) House of Representatives
(d) Bundestag
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40.

At present Indian Constitution has
number of Articles.

(a) 450
(b) 395
(c) 511
(d) 484

The first meeting of new Constituent
Assemble was held on

(a) 26t January 1950
(b) 15! August 1947
(c) 26th November 1949
(d) 9t December 1946

Who was the President of the Committee
of Fundamental Rights during drafting of
Indian Constitution ?

(a) Sardar Vallabhbhai Patel
(b) J. B. Kripalani

(c) Prof. H. G. Mukhariji

(d) B. N. Roy

Among the following who participated in
Constituent Assembly is not a Kannadiga ?

(a) Changal Rayareddy
(b) T.Siddalingaiah

(c) H. Siddaveerappa
(d) V. V. Giri

Which is the first movie made in India ?
(a) Alam Aara
(b) Raja Harishchandra

(c) Sathi Sulochana

(d) Kisan Kanya
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(a) TLRAIB
(b) RTLIAB
(c) TLARIB
(d) TLRABI

42. Calculate the number to replace the
question mark in the following triangle.

3 4 e
/N /e
6 8 5 7 77 g

(a) 7
(b) 10
(c) 8
(d) 6

43. Name the officer who ordered to fire on the
public gathering at Jallianwala Bagh.
(a) General Dyer
(b) Lord Mount Batten
(c) A. O. Hume
(dy Warren Hastings

44. Who is the author of the book “1857-First

War of Independence” ?

(@) Shyamiji Krishna Verma
(b) V. D. Sawarkar

(c) Madan Lal Dhingra

(d) Jithin Das
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45.

46.

47.

The most ductile element is
(a) Copper

(b) Gold

(c) lron

(d) Silver

The force responsible for drying of cloths
in a washing machine is

(a) Gravitational force
(b) Centrifugal force
(c) Electrostatic force

(d) Centripetal force

This falls is called as Nayagara waterfall
of Karnataka

(a) Gaganachukki — Bharachukki falls
(b) Jog falls '

(c) Abbe falls

(d) Gokak falls

Match the following :
i) Kashmir A) Western Ghats
of Karnataka

i) Sahyadri hills B) Evergreen forests

i) Land of coffee C) Kodagu

iv) Malnad D) Chikkamagaluru
(@ i-C i—-B ii-D iv-A
(b)i-A ii-D ii-C iv-B
(c)i-D i-C ii-A iv-B
(di-C ij—-A ii-D iv-B
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49.

50.

51.

52.

53.

BT AR

“Ananda Kanda” is pen-name of
(a) Lakshmi Narayanswamy
(b) Masthi Venkatesh Aiyyangar
(c) Betageri Krishna Sharma

(d) Vinayak Krishna Gokak

“Anshi” National Park is in which district 2
(a) Uttara Kannada

(b) Mandya

(c) Shimoga

(d) Belagavi

‘NATO’ is headquartered at
(a) Buenos Aires

(b) Bogota

(c) Bridgetown

(d) Brussels

Minimum age required to become
Governor is

(@) 35 yrs.
(b) 40 yrs.
(c) 60 yrs.
(d) 50 yrs.

The sculptor who carved Gommateshwara
statue of Shravana Belagola is

(a) Jakanachari
(b) Chavundaraya
(c) Dakanachari

(d) Arishta Nemi
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54.

55.

56.

57.

Indiaisranked inthe World in
the cultivation and production of Sugar.

(a) First

(b) Second
(¢) Third
(d) Fifth

Which of the following can effectively
prevent coastal erosion ?

(a) Construction of buildings along the
coast

(b) Encouraging sand mining along the
coast

(c) Growing mangrove forests along the
coast

(d) Promoting human activities along the
coast

The first Kannada Inscription (Halmidi)
belonged to the dynasty of

(a) Kadamba
(b) Badami Chalukya

(c) Hoysala

- (d) Rashtrakuta

Buddha delivered his first sermon
(teachings) at

(a) Saranath
(b) Takshashila
(c) Pataliputra
(d) Gaya
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As of now how many ranges are there in
Police Department of Karnataka State ?
(a) 5

(b) 6

(c) 7

(d) 8

Which is the first Kannada “Talkie” movie ?
(a) Sathi Sulochana

(b) Mruchha Katika

(c) Utsav

(d) Amarashilpi Jakanachari

What is the rank of head of Karnataka
State Reserve Police (KSRP) force ?

(a) D.G.P.

(b) A.D.G.P.

(¢) Commandant
(d) D.I.G.P.

How many perfect squares can be found
below 500 ?

(a) 1

(b) 16
(c) 22
(d) 26

The principal amount that yields a snfanB
interest of Rs. 1 280 at 16% per annum for
8 months is Rs.

(a) 10,000
(b) 12,000
(c) 12,800

(d) 14,000 Q_E)/'
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63.

67.

The disorder caused by lodine deficiency
in food is

(a) Simple Goitre

(b) Anaemia

(c) Night blindness

(d) Phrynoderma

Density of water is maximum at
(@) 4K

(b) 4°C

(c) 0°C

(d) 100°C

Which of the following is not a parasite ?
(a) Earthworm

(b) Roundworm

(c) Hookworm

(d) Tapeworm

In contour ploughing, the ploughing is done
in transverse direction to the slope because

(a) To trap water

(b) To check soil erosion by rain water
(c) Both (a) and (b)
(d) None of the above

Find out range for the following data :
130, 200, 261, 180, 205, 172, 152, 144

(a) 70
(b) 81
(c) 131
(d) 12

-
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68.

69.

70.

71.

72.
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Bile juice is secreted by
(a) Pituitary

(b) Parathyroid

(c) Thyroid

(d) Liver

What is the speed of Earth’s rotation per
hour at poles ?

(a) 850 km .
(b) 1663 km
(c) 0 km

(d) 1120 km

Who is the second man to put foot on moon ?
(a) Neil Armstrong

(b) Yuri Gagarin

(c) Edwin Aldrin

(d) None of the above

Name of the place with Highest Rainfall in
Karnataka ?

(@) Agumbe
(b) Hulikal
(c) Madikeri
(d) Sagar

The imaginaﬂ line connecting places of
g £

same temf?érature is -

(a) Isotherms,

(b) Isohales

(c) Isobars

(d) Isotropic
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73.

74,

75.

76.

Who is the signatory on new 500 currency
note ?

(a) Prime Minister
(b) RBI Governor
(c) President

(d) Mahatma Gandhi

Total number of languages printed on new
X 2,000 currency note is

(a) 17
(b) 15

“(c) 09

(d) 10

According to Abolition of Child Labour Act,
child is one below

(a) 18 years of age

~ (b) 16 years of age

(c) 14 years of age
(d) 12 years of age

Number of bones in human body is
(a) 208
(b) 226
(c) 256
(d) 206

Name the Vitamin we get from sunshine
(a) Vitamin B
(b) Vitamin A
(c) Vitamin D
(d) Vitamin C
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A work will be completed in 36 days by

8 persons working for 8 hours in a day. In

how many days the same work can be
completed if the same number of persons
work for 6 hours in a day is

(a) 48 days A rity f:'){,
(b) 42 days - ‘A of % o h
o AL - L
(c) 52 days 5 ,1*-4 o
) 46 days . S RFr S
I

Sum of age of father and’son is 68 years.
If the present age of son is 21 years then
what is the age of father at the time of son’s

birth ? ‘ 2 . By
”‘ Fj B [
(a) 26 A ¢ =
(b) 30 ? £ (_:,
(c) 28 [
d) 24 |
( vy Fos S
4 A6
Complete the series. L\Qd\_(
3,6,30, 870, £ % “a
(a) 26100 \ - (
! N O
(b) 2610 ﬁ A X(
(c) 1740 6 \{\fg
(d) 756030 p (

In a recent test match played against
England, an Indian Cricketer scored a triple
century in an innings. He is

(a) K.L.Rahul

(b) Rahul Dravid

(c) Virat Kohli

(d) Karun Nayyar

A

$o B
236 B

= — ""x %q
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(a) SiO, + Mg —» Si + MgO

ko1 Si0, +2Mg — Si+2MgO
AD) S0, +:

(c) SIO +Mg —> Si+ MgO,
(d) SiO, + Mg — SiO + 2MgO
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82.

84.

Which of the following is a balanced
equation ?

(a) SiO, + Mg —> Si + MgO

(b) SiO, +2Mg —» Si +2MgQO

(c) SiO + Mg — Si+ MgO,

(d) SiO, + Mg —> SiO + 2MgO

A green leaf that has fallen down from a
plant is taken and kept in water for
sometime and then taken out, it is then
dipped in spirit and iodine solution. The leaf
turns bluish indicating the presence of

(a) starch
(b) oil

(c) protein
(d) fibre

A person is singing in a radio station. It can
be listened to a receiver almost at a speed
of

(a) 340 m/s
(b) 3x 108 m/s

th
(c) %6 of a second

th
(d) %0 of a second

Major lacunae in Darwin’s theory was, his
failure to explain

(a) Over production
(b) Survival of the fittest
(c) Struggle for existence

(d) Variations
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86.

87.

89.

90.

cenrtifying the

O 0

Rashtrakutas defeated which of the
following Badami Chalukya King ?

(a) Mahendra Verma

(b) Keerthi Verma

(c) Pulakeshi the Second
(d) Raja Narasimha

The 615 Amendment of Indian Constitution
of ____ reduced the voting age to
18 years from 21 years.

(a) 1994
(b) 1968
(c) 1989
(d) 1972

As per the 2"d Amendment of Panchayath
Raj Act of 2000, a Panchayath member
must have this facility at his home

(a) Gober gas plant
(b) Electricity ' |
(c) LPG facility
(d) Toilet facility

The percentage (%) of World popuiat:on
living in India is about

(@) 15.1%
(b) 16.2%
(c) 17.3%
(d) 18.4%

Printing of “AGMARK” is compulsory for

(a) Products of cottage industries

(b) Products of small scale industries

(c) Agricultural products

(d) Products of manufacturing industry
B
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91.

22.

93.

94.

95.

Match the following :
i) Tungariver A) West flowing river
ii) Krishna river B) Naviluteerthadam
iii) Sharavathi C) Mahabaleshwar

river ;
iv) Malaprabha D) East flowing river
river
(@ i-B ii-D ii—C iv—A
(b) i-C ii—A iii— B iv—D
(¢) i-D i-C ii—A iv—B
(d)i-D i—-C ii—B iv—A

“Manchester” is famous for

(a) Iron and steel industries

(b) Textile industries

(c) Beautiful city

(d) Paper manufacturing industries

The Right to Constitutional Remedies has
been in corporated in Article

(a) 14
(b) 17
(c) 29
(d) 32

This part of Constitutional is borrowed from

Irish Constitution

(a) Independent and Centralised Judiciary
System

(b) Fundamental Duties _

(c) Directive Principles of State Policy

(d) Fundamental Rights

Who was the President of Constituent
Assembly of Constitution ?

(a) Dr. B. R. Ambedkar

(b) Dr. Babu Rajendra Prasad
(c) M. K. Gandhi

(d) Benegal Ramarao
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96.

97.

98.

99.

100.

00 1 1 0 A

Modeof2,3,3,5,3,5,7,3,5is
(a) 3

(b) 5

(c) 3and5

(d) 4

If a person moves either 1 unit in the
direction of positive X-axis or 1 unit in the
direction of positive Y-axis per step. Then
the number of steps required to reach
(10, 12) starting from the origin (0, 0) is

(a) 10
(b) 12
(c) 22
(d) 120

Which of the following dynasty did not rule
Vijaya Nagara Kingdom 7

(a) Sangama dynasty
(b) Pallava dynasty
(c) Araveedu dynasty
(d) Saluva dynasty

In Indian economy, agriculture is mciuded
in which sector ?

(@) Primary

(b) Tertiary

(c) Secondary

(d) None of the above

Currency of England is
(a) Yen

(b) Ruble

(c) Pound

(d) Dollar

QY
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Instructions to Candidates

Maximum Marks : 100 ' Time : 2 Hours

1. The question paper contains 100 questions. All questions carry equal marks. Each question
carries 1.00 mark.

2. Please enter your application number, roll number and the serial number of the question
paper in appropriate boxes of your answer sheet. Also ensure that your left hand thumb
impression is affixed on the OMR sheet, Your signature and your room Invigilator’s signature
should be there on the OMR answer sheet.

3.  Write down clearly the Question Booklet version code (A, B, C, D or E) as the case may
be in the appropriate space provided for the purpose in the OMR Answer Sheet.

4. Please mark your answers only on the OMR answer sheet provided. Use Black or Blue
Ball Point Pen only. Candidates can take a copy of their answer sheet with them after
the examination.

5. Qverwriting, marking multiple answers will be considered as wrong answers and leaving
a question unanswered will get zero mark.

6. Candidates involved in copying, discussion with other candidates and other disruptive
activities will be ‘debarred’ from the examination.

7. Mobile Phone, Calculators, Pager or any such gadgef will not be allowed inside the
examination hall. |

8. Doubts regarding any questidn [ answer in the booklet may be checked with the English
versionsor clarification. Candidates are not allowed to leave the examination hall till the
examination is over.

9. Any mistakes in the question paper like printing mistake, pages being interchanged, repetition
. of questions, any page missing or any other discrepancies may immediately be informed
to the roomInvigilator and clarified or correct question paper taken. Candidates should get

clarification of such mistake in the examination hall itself otherwise candidates would be
held responsible.

10. Immediately after the Final Bell indicating the completion of the examination, stop making
any further marking in the OMR Answer Sheet. You are instructed to remajn seated at
your place till OMR Answer Sheets of all the candidates present in the hall are collected
by the Invigilator and further you can leave the examination hall as permitted by the Invigilator.
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